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Subject : Social Science
gug : 3 9ue | [ qouifs : 75
Time : 3 hours ] [ Maximum Marks : 75
T : Wt U T WY

Note : Attempt all questions.

frder : (37) WY AT 1 GETS T 7 ) T T TS TS (20),
@' () U6 @ (9) | @ve (31) H aSgfaecyla 99, @ue
(R) # 3faa day fge w@ @ve (7) # fga Al &t g
Q Feifed wed €1 IS WU W 5 W § 91 TIE W W1
af% arrefea 1

Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5 questions.
Each question carries 1 mark.

a-1  (@ue-3N) Tl fawen e fafae [1x5=5]
(Part-A) Choose and write the correct option :
(1) s dEAR
() TR (@) wo -
(%) 4 (3) e )
Abiotic resource is :
(a) wood (b) fish
(¢) land (d) coal
PR 1T PTO.
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[2]
(i) T WA A At I F wE @ gy 2 3
(3) st |
(7 feRwRe
(%) TN R

(%) =it =gt R, o ot feem et

Use of chemical fertilizers for a long time, fertility of land :
(a) incrca;:ses

(b) remains stable

(¢) decreases

(d) sometimes increases or sometimes remains stable

(iti) AR F Toa 1 Fo IQT 8§ ¢

(37) F=W (@) WERY HT H A
(&) (3) 79 qFE I
The biggest government source of public finance is :
(@) Loan (b) Profit of government company
(¢ Tax (d None of these
(iv) T e H fear s @
(37 T@-AEA (9) 3= TurEd g Nifies 3R
(7)) -wa (3) EEs HI5H

In mid-day meal, it is given :

(a) Rice-dal (b) High nutritious food

(¢) Milk-fruit (d) Necessary food
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[3]
(v) W94 AR H TR -
(37) TR Shifa (7)) wrars swifd
(9) TEnER wifd () gumr sifa
In 1949, it had happend in China :
(a) Bloodless revolution (&) Communist revolution
(¢) Socialist movement (d) Reform movement
(@ve-v ) 3fua gy wifeu : [1%x5=5]
(=) (|)
() e = - (3 1939
(i) Teta fava gg - (7)) nitER
(i) feeer - () g =%
(iv) Haafg # werEw - (® &=
(v) <vvfe woomuifa fieem - (3) “HIE, Fren S

(Part-B) Match the following :

(4) (B)
(i) Ironore - (a) 1939
(i) Second World War - (b) Nazism
(iif) Hitler - (c¢) Non-renewable cycle

(d) East-west

(iv) Subsidiary in price hike

(v) Film based on patriotism (e) Hoarding, black marketing

(@ue-w) faa Wi Ht I Hif [1x3=3]
(Part-C) Fill in the blanks :

() — T TR T | ¥

Desert is in the Rajasthan state.

http://www.cgboardonline.com

WO dUIUOPIBROGTO Mmmm//:dy



WO dUIUOPIROGSI Mmm//:dy

http://www.cgboardonline.com
(4]
(i) w= — T U faee | 5= e
Russia became a huge empire by .
(it)) SR, geeft 3l — fremam O 29 weam a1

Germany, Italy and ___ were called Axis Country.

W) Tt forea 9g ¥ e wom 9t v T qiw —— oty

After Second World War a new communication technique was .

(v) A — T & for feom ¥
London is situated on the bank of the river .

frdfer 2 (F) T HHF 2 R 6 T AETH WA ¥ YT T W
2 3 IEfen ¥ 1 (ST A 3tfersem we-dn 30 T2 2)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of

answer is 30 words) http://www.cgboardonline.com

Ti-2 9 ¥ faem F fog @ wey fafau)

Write two aims of development of village.

[1+1=2)]

wyi-3 mﬁ#ﬁ%ﬁﬁm%mmmwamml [1+1=2]

Write two works to make welfare for poors in your village.

WeA-4  WRA ¥ < e wew ¥ am fafae)

Write the names of the two Industrial states of India.

Yoa-5  §OR Q@ T AWE ¥ ?

What is meant by market?

UPH-6 Y g & AT I A € 2

What do yéu mean by Cold War?

[1+1=2)

[2]

S-3A
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[S]
: (F) 99 WHE 7 | 10 9% AfqeEeiE I § 1 90 T W
3 3 atEfed €1 (IWM F sifirman w=-d9r 50 v )

Instruction : (C) Question Nos. 7 to 10 are very short answer type questions.

w¥i-10

Faer

Each question carries 3 marks. (Maximum word limit of

answer is 50 words)
gl 31 9AE St d1F o] fafaa ) [1+1+1=3]
Write three arrangements of first general election.
Jft GUR NI ot faaamT | 98 9t §F Ao fafaw) [1+1+1=3]
Write three importances of land reforms in Vietnam.
o ¥ SR S @ firer O @ @ fafa [1+1+1=3]
Write three advantages of the Right to Information Act. | ,
ot e A s P A A EE R (161+1=3]
Write three factors influencing the origin of urban settiements.

: (D) WWH@TMWWW%IWW'ETW
fpeT ¥ | UAE U¥A W 4 3 IEfea € | (S o Alushad

yee-dm 75 I ¥)

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.

Each question has internal option. Each question carries

4 marks. (Maximum word limit of answer is 75 words)

w3 qed W gern # Afeensll F wawa w1 ¥ 1 o famw fafag

e -1
(F1E T | (1+1+1+1=4]
Write your thoughts for less literacy rate of women as compared to
men in India (any four).
341/ OR
S-3A P.T.O.
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[6]
m@mﬁ@ﬁwimﬂmélmwumm1
Increasing population is the obstacle in the whole world

development. Write its four effects.

FIHEE % AR Teqv fafaa | [1+1+1+1=4]

Write four characteristics of Fascism.
HIGT/OR

SEHT g 7 St S A g W 98 91t 36 =R vaE fafaw)

If Germany had won in the war, then write four of its impacts on

the world.

fava g % A fafir= S o wfecnsll =t feafa & o1w seem@ ¥ =R
wma fafau - (1+1+1+1=4]
Write four impacts of changes in the situation of women in different

countries during the World War.
37e[qT/ OR

1914 3. ¥ WY ¢ IS F Tava g5 +81 711 ® | 39 T ) e shifs
(¢ &m) |

The war that began in 1914 is called World War. Explain this

statement (any four).

3IvaA yfr He yfr F firmr 31 a1 faem fafaw) [1+1+1+1=4]

Garden land is different from agricultural land. Explain this statement.

3¢9/ OR

wht yf, SR R = R we PR

Barren land is different from waste land. Clarify.
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frasr 2 (3) I FHF 15 T 16 Sredsata v ¥ ISE wE § orfE
faeg €| 7% W W 5 ofw amEfen §1 (I F ifuwan
== 100 vI= §)
Instruction : (E) Question Nos. 15 and 16 are long answer type questions.
Each question has internal option. Each question carries
5 marks. (Maximum word limit of answer is /00 words)
U¥I-15 N9 IR Ut FA-H1 1 S ey §, S 7 gE 9 | Sed
€1 39% uie fag fafau) [1+1=1+1+1=5]
Write five points on somethings that arc available around us that
connect us with other countrics.
37e7aT/OR
YRa § deEt & g yvE fafae)
Write five effects of Globalization in India.
U-16 9% F U9 & faf@u) [1+1+1+1+1=5)
Write five functions of Bank.
37191/ OR
yRdta fad 9% & 9re i faf@a)
Write five functions of the Reserve Bank of India.
Frfor : () W FHHF 17 T@ 18 NH3T WA ¥ | WS WA § A

fameq & | 9OF Y99 W 6 37 rEfed € 1 (3T Y AfuHan
WR-"IT 150 U= §)

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.

u1-17

Each question has internal option. Each question carries

6 marks. (Maximum word limit of answer is /50 words)

TaeA wiwk & 8: fag faaet d@itra saren s (1+1+1+141+1=6]
Explain briefly by writing six points of the voting process.

3781/ OR
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[8]

Hfgell AT Hit AagH $i gfawd 7 g1 & ©: SR faf@g |

Write down six reasons of less percentage of women voters in voting.

UPA-18  WUE & FEf &1 Jui i [6]

Describe the functions of the Parliament.

3rerar/OR
JurEs it Frafe B w0 § 2 Juresh % w9k FR)

Who appoints the Prime Minister? Describe the functions of the
Prime Minister.

http://www.cgboardonline.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
=y guel ud $or 3R 10 F9A ard,
Paytm or Google Pay &

S-3A : oo

1,856,000

http://www.cgboardonline.com

WO dUIUOPIROGTO Mmmm//:diy



